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A brick is 20 cm long and 10 cm high. How many bricks wil
required to make a wall 2 m long and 2 m hlgh?
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2. A truck can carry 4000 bricks. How many bricks can 20 such trucks
carry?
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3. The cost of a thousand bricks is Rs.1500. Ram needs mbncks for
his courtyard. How much will he have to pay?
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1. Cut out the following shapes to make a stencil using cardboard.

1
Pick a shape and make its outline on paper.

3. Move and outline the shape in such a manner that there are no gaps or

overlaps between the outlines. Such patterns are called
TESSELLATIONS.
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Draw TESSELLATIONS using
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